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Name-_ Starttime- _ _: End time-_ _:
Solve
65 58 68 79
X 7 Xx 9 Xx 9 X 7

Word problems :

1.

4 of the houses had some cars parked outside. If there were 4
cars outside each house. How many cars were there in total?
two of the houses were having a party. Each family invited 9
guests to their house. How many guests were there in total?
There are 3 letters in each of the six mailboxes. How many

letters are there in total?

4. There are 6 houses on a small street. Each house has a family

with 4 children, How many children are there in all ?

CHALLENGE

A man can eat 990 calories per day. How many calories can he eat
in 3 years?
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